
0.54 IN
13.6 MM

0.58 IN
14.7 MM

R0.2 IN
5.1 MM

[63.2-83.5 MM]
2.5-3.3 IN

.8 IN ADJUSTMENT RANGE

55.00°

0.35 IN
9 MM

0.28 IN
7 MM 0.2 IN

5 MM

(FLANGE CENTERLINE/INSIDE FACE)

[11.5 MM]
.45 IN

5

4

3

2 1

6

7

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 MS1013 STAINLESS DOUBLE WASHER FOR SLIDING DROPOUT 1
2 MS2012 M8 x 1.25 STEEL BUTTON HEAD CAP SCREW FOR SLIDING DROPOUT 2
3 MS2013 M5 x 0.8 SOCKET HEAD CAP SCREW FOR SLIDING DROPOUTS 1
4 MS2016 M5 HEX NUT FOR SLIDING DROPOUT 1
5 DR4005 RIGHT SIDE INSERT, NO HANGER

1
6 DS1004

DS0004
RIGHT SIDE FRAME COMPONENT (17/4 STAINLESS STEEL)

RIGHT SIDE FRAME COMPONENT (6/4 TITANIUM)
7 MS5001 M5 THUMB NUT FOR SLIDING DROPOUTS 1

CHECK WEBSITE FOR ADDITIONAL INSERT AND HARDWARE OPTIONS

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

DS0004R
SHEET 1 OF 1

RIGHT SIDE FLAT
SLIDING DROPOUT

ASSEMBLY
3/2018

3/2018MCN

DN A
SCALE: 1:1

REVDWG.  NO.

C
SIZE

TITLE:

Paragon Machine Works

NAME DATE

CHECKED

DRAWN

PROPRIETARY THE INFORMATION CONTAINED IN THIS
DRAWING IS PROVIDED FOR 
FRAMEBUILDERS AND IS THE SOLE 
PROPERTY OF PARAGON MACHINE 
WORKS.  ANY REPRODUCTION IN PART 
OR AS A WHOLE WITHOUT THE WRITTEN 
PERMISSION OF PARAGON MACHINE 
WORKS IS PROHIBITED.

A

MATERIAL: 
GENERAL TOLERANCES:
X.X  0.020"
X.XX  0.010"
X.XXX  0.005"


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


